ELECTRICAL CIRCUITS 1 - CLASS NO. 01 (07.10.2024)

RESISTOR

R - vesisface

R R e symbo, ¥ Hhe 1ot gmbol oo resistane is R
Y mbo % dhe wit of resistance is Ohm () - Gieck lefler . [ome_qa)

; . ¥ W equoﬁom "

zlgzak Lag \/RG) - K- 5«0') = —%@ Ohm‘s law
¥ the jnveis of tesisience is the Conductonce [S]

RESISTANCE
b=¢ & . o
L = $he. lengih of he congluctpr [m] 4 dhe (esisiance 0F @ given oject defends
A - coss-sectional aea of a conductor a0 w]:aof Ei?;:eofa:l it is mode of
9 (vho) - the electical fesistivily of the mafeq'al _ ifs shape

L m] - [om-meless |

PROBLEM #1
Caleulale the leagh of the copper uite with coss-sectiongl qrea: &) 15ma® 6) IS na’

when ifs esistance is 1. .
a= o+ Q- tesistance [AT ou: 1340 Ul
& Q- electrical vesistiviy s
| - fhe length (=80

0 - cwoss- sectiongl area

Q) R=AL, A: 15108 m®, @=1% 1978 f)-m

_ QA 4.15-00°¢
e et 33, d4m

) R=1d, A=25-10%m% 94310 fin

&8 1-2510° 4o g6
417192

RESISTORS IN SERIES

9 Ry v 6
?9——-1:::}—[:}— coo — 1o  Reg= Ry+het _t Ry
x ¥e vesistors ae conecled 0 series (betueen Q@ pair of tewminals A and (5)
* e total (eqmvalem) tesisfance “af iesistors comected in series (8 equal to +he sum

of dheiv individual Vesistances



RESISTORS IN PARALLEL
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PROBLEM #2
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